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GENERAL INSTRUCTIONS

A. Orient student on what he/she will
do in each type of test. Do this only
on chapter 1. For the remaining
chapters; you don’t have to do the
orientation.

B. Student must type his/her answer
on the Skype chat box.
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Directions:

In this part of the test, each sentence
has four words or phrases underlined.

The four underlined parts of the
sentence are marked (A), (B), (C),

and (D). The students are to identify
the ONE underlined word or phrase
that should be corrected or rewritten.
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QUESTION 1

Paleoanthropologists believe that prehistoric
man was innate a gentle, cooperative, food-
sharing creature.

A. believe
B. innate
C. cooperative

D. creature
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QUESTION 2

When the Panic of 1857, some U.S. citizens
who had been rich or comfortable became
poor while a few others, capitalizing on
economic shifts, became richer.

A. When
B. had been
C. while

D. capitalizing
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QUESTION 3

Many artists

receive promote backing from government
agencies as well as from private individuals and
firms.

A. promote
B. from

C. aswell as
D. individuals
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QUESTION 4

Vitamin E, which is found in nutritious foods such
as green vegetables and whole

grains, action as an antioxidant in

cell membranes

A. which is found

B. nutritious

C. action

D. membranes
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QUESTION 5

In his famous domes, architecture
Chuckminster Fuller utilized thousands
of simple equilateral triangles linked together.

A. architecture
B. utilized
C. simple
D. linked
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QUESTION 6

Solar astronomers have recently observed
bursts of coherent radio waves coming from a
specific locations on the sun's surface.

A. Solar astronomers
B. recently
C. from

D. locations

—_—
@%nglish Teachers On Call




QUESTION 7

Vitamin K providing the necessary impetus for
the synthesis of at least two proteins involved in
blood clotting.

A. providing
B. necessary
C. at least

D. involved
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QUESTION 8

If no fossil record were available, the next strongest
evidence of the kinship among organisms would to
be similarities in the embryonic development of

organisms today.
A. were
B. to be

C. embryonic

D. today
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QUESTION 9

Research and recommending concerning the
dangers of smoking are beginning to have an
impact on the tobacco industry in the United
States.

A. recommending
B. concerning

C. smoking

D. industry
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QUESTION 10

Scholars of historical change feels that the
velocity of history has been greatly
accelerated by the onward rush of science
and technology during the twentieth century.

A. feels
B. that
C. has been

D. during
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